LG BREEIE-RELHE

HELHRA/)

LA LR)L2 LARL3 LAR)L4 LARILS LARIL6 LMHE wE
IERS IiE &5 bl & BHEHER TEEE - B IRE
a = a E|a =

EERIETE 1
THRET 1
BEERERET 1

T i [FHALEE SFT{ESE] 172.62

AV —rRESFRENE FHLE 172.62

LE(EBHERI) EAFRO--FHI)MIE. SFEEE 172.62

EEMHREEET 172.62

T i [FHALEE ERE B 15] 116.76

AV —rREEFREME FHLE 116.76

LE(EBHERI) EAFRO--FHI)MIE. EERS 116.76

EEMHREEET 116.76

BHEET 1
HEEET 1
WEEEI(EELE) |[SHrLy-BhsLE Y, T 20.006m3/45, BEM B )I—t AMELIL) 1

_ WEEEI(EEIR) 1

BEERERET 1

T bR [FHALEE ERE B 15] 79.61

VY —bREEREME T 0B 79.61
LE(EBHERI) EAFRO--FHI)MIE. EERS 79.96
_ EEMHREEET 79.60

RE V)T 1
avh)=+ = kA(D24N-8-25] 0.65
CB240010 avs)—k 0.65
itk S5 EAEEY 0.48
CB240210 filE e 0.48

iEEERET = 1
ffE#RF T = 1
fH-TLBMEEEMHE  ([TL a0 HER=20mm] m 7.00
BRABERFEESET m 7.00
& B 0E T PYEPZEA i3 4
B #h g [E:13is 4

BEYRET = 1
EfRNE T = 1

OB EFHCoEIEY . BMIRA m3 0.12

CB227010 m3 0.12

BEH SR Conk t 0.26

t 0.26

mET % !
BHT = 1

HERBT = 1

HERST ¥ 0m, REFRYMLE #hm2 183

HEERES 3 O0m, REFRYMLE #m2 30

#RaRFAET HE m2 183

EATEEE = 1

ERTEEE [Myy2R%E-BEE R 779074—4 13.2m 1000ke] A 8

EREREER A 8

o R PR B AR U B AR i (B 3K = 1

BRI PR 32 @ AR BB R [ 6

EIRIRH E] 4
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SACEERIEER)= 51.763

| #FOHE L - B K g &
EMEE T
RBMIREBET B CFHOALER - Yeid - i)
(&) TR TR
AR R LR L LR 2
A= 51.763 + 47988 +  38.322
kiR Lo
R 3 LR 4 A R
+ 38.322  + 47988 +  64.995 =[  289.378 m2
EATEE = 172.620 m2
EERE = 116.758 m2
FEARIEERE (A ) (AR
MR Al= 0.395 X 7.400 X 2 = 5.846
WS T iE A2= 0.100 X 7.400 X 2 = 1.480
WS T iE A3= 0.020 X 7.400 X 2 = 0.296
A HER Ad=  1.061 X 7.400 X 2 = 15.703
EATEE Ab=  0.85 X 1.208 X 2 = 2.054
I A6= 1/2x(0.850+0.920) X 1.098 X 2 = 1.943
I AT= 1/2%(0.920+1.019) X 1.098 X 2 = 2.129
I A8= 1/2X(1.019+1.145)X 1.098 X 2 = 2.376
I A9= 1/2X(1.145+1.300) X 1.098 X 2 = 2.685
I A10= 1.300 X 0.200 X 2 = 0.520
I All= 1.300 X 0.200 X 2 = 0.520
I A12=1/2X(1.300+1.178) X 1.400 X 2 = 3.469
M T iE Al3= 2.200 X 4.392 = 9.662
I Ald= 2.200 X 1.400 = 3.080




&l G S:V g X % &=
PR [Fof- 1T R
B A 1 Al=  0.395 X 6.600 X = 5.214
B T i Al= 0.100 X 6.600 X = 1.320
HE T i Al= 0.020 X 6.600 X = 0.264
TR IEFERR  |-A2= 0.050 X 4.500 = -0.225
(F5 A1)
TR IEFERR  |-A3= 0.050 X 4.500 = -0.225
R
o H B Ad=  1.061 X 6.600 X = 14.005 20.353
FATAA
A5= 1/2X (1.178+1.080) X 1.300 X2 = 2.935
A6= 1/2% (1.080+1.004) X 1.350 X 2 = 2.813
AT= 1/2% (1.004+0.947) X 1.350 X 2 = 2.634
A8= 1/2% (0.947+0.906) X 1.350 X 2 = 2.502
A9= 1/2% (0.906+0.879) X 1.250 X 2 = 2.231
M T A10= 2.200 X 6.600 = 14.520 27.635
AR 1)= 47.988




i ]| I - B X by =
Hh L R R [FO#R-BEERR]
MR Al= 0.395 X 5.500 X = 4.345
WS T iE Al= 0.100 X 5.500 X = 1.100
WS T iE Al= 0.020 X 5.500 X = 0.220
FIERG L ERR [-A2= 0.050 X 5.500 = -0.275
(B AR
FER L ERR [-A3= 0.050 X 5.500 = -0.275
©5=v))
A HER Ad=  1.061 X 5.500 X = 11.671
EATEE Ab= 1/2X (0.879+0.862) X 1.450X 2 = 2.524
A6= 1/2X (0.862+0.854) X 1.350X 2 = 2.317
AT= 1/2% (0.854+0.850) X 1.350X 2 = 2.300
A8= 1/2x (0.850+0.850) X 1.350 X 2 = 2.295
M T iE A9=  2.200 X 5.500 = 12.100
S AR R#2)= 38.322




iz ]| I - B X by 5=
Hh L R R [ EV#R— B ERR ]
MR Al= 0.395 X 5.500 X = 4.345
WS T iE Al= 0.100 X 5.500 X = 1.100
WS T iE Al= 0.020 X 5.500 X = 0.220
FIERG L ERR [-A2= 0.050 X 5.500 = -0.275
(B AR
FER L ERR [-A3= 0.050 X 5.500 = -0.275
©5=v))
A HER Ad=  1.061 X 5.500 X = 11.671
EATEE Ab= 1/2X (0.879+0.862) X 1.450X 2 = 2.524
A6= 1/2X (0.862+0.854) X 1.350X 2 = 2.317
AT= 1/2% (0.854+0.850) X 1.350X 2 = 2.300
A8= 1/2x (0.850+0.850) X 1.350 X 2 = 2.295
M T iE A9=  2.200 X 5.500 = 12.100
S AR R#3)= 38.322




&l i /K g X % &=
PR [Fof- 1T R
B A 1 Al=  0.395 X 6.600 X = 5.214
B T i Al= 0.100 X 6.600 X = 1.320
HE T i Al= 0.020 X 6.600 X = 0.264
TR IEFERR  |-A2= 0.050 X 4.500 = -0.225
(F5 A1)
TR IEFERR  |-A3= 0.050 X 4.500 = -0.225
R
o H B Ad=  1.061 X 6.600 X = 14.005
FATAA
A5= 1/2X (1.178+1.080) X 1.300 X2 = 2.935
A6= 1/2% (1.080+1.004) X 1.350 X 2 = 2.813
AT= 1/2% (1.004+0.947) X 1.350 X 2 = 2.634
A8= 1/2% (0.947+0.906) X 1.350 X 2 = 2.502
A9= 1/2% (0.906+0.879) X 1.250 X 2 = 2.231
FHT T I A10= 2.200 X 6.600 = 14.520
AR 4)= 47.988




5 AR = VIR S ¢ % &
AR (Shim)
(i)

B A 1 Al=  0.395 X 9.200 X 2 = 7.268
B T i A2=0.100 X 9.200 X 2 = 1.840
HE T i A3=0.020 X 9.200 X 2 = 0.368
o H B Ad=  1.061 X 9.200 X 2 = 19.522
FA A A5= 1.300 X 0.200 X 2 = 0.520
Z A6= 1/2X(1.300+1.145) X 1.534 X 2 = 3.751
Z AT= 1/2X(1.145+1.019) X 1.534 X 2 = 3.320
Z A8= 1/2X(1.019+0.920) X 1.534 X 2 = 2.974
Z A9= 1/2%(0.920+0.850) X 1.534 X 2 = 2.715
Z Al0= 0.850 X  1.263 X 2 = 2.147
Z All= 1.300 X  0.200 X 2 = 0.520
Z A12=1/2X(1.300+1.178) X 1.400 X 2 = 3.469
M T Al3= 2.200 X  6.137 = 13.501
" Al4= 2.200 X 1.400 = 3.080
I ACEHIEERD)= 64.995




&l 3 o&" KX - K’ K % =
- W s T R —RANRERM EHTiE EEESt=3em SFHBHEHAR H
P2RGI WrEfEfE [ Vi=  0.400 X 0.500 X 0.030 = 0.006 m3
- EREAL 5y MR 7Y — Nk TER
Vi= WrmfEEELFEC = 0.006 m3
(t/m3)
Wi= 0.006 X 2.35 = 0.014 t
RV R T BT (T HIALER - BEi - A1)
A= PUEM  +  P2i@
33.438 46.171 = 79.609 m2
P
FEER(E ) Al= 2.200 X 4.546 = 10.001
HER L ) A2= 2.200X3.682-1/2 % 2.200 X (0.500-0.400) = 7.990
FEHS (1) A3= 1/2X(4.182+4.546) X 0.400 X 2 = 3.491
RS Ad= 2.200X5.505-1/2 % 2.200 X (0.707-0.566) = 11.956
SA(PLGEMD = 33.438
P2AE I
FEER(E ) Al= 2.200 X 6.060 = 13.332
FEER(E ) A2= 2.200 X 0.200 = 0.440
HER L ) A3= 2.200X4.860-1/2 % 2.200 X (0.500-0.400) = 10.582
FEHS (1) Ad= 1/2%(5.360+5.724) X 0.400 X 2 = 4.434
RS A= 2.200X7.972-1/2 % 2.200 X (0.707-0.566) = 17.383
S A(P2GI) = 46.171
R ) —R T 24-8-25 FyE L Vt=2cm
A 7U—h V= 1/2X(1/2%(0.100+0.500) X 0.400+1/2 X (0.100+0.600) X 0.500)
X 1.100 X2 X2 = 0.649 m3
iRl A= 1/2%(0.100+0.500) % 0.400 X 2 X 2 = 0.480 m2




(| L = VIR - S P g =%
fEEEREL T R a (b Dvbt7
- fHf A e AR i B20mm& A 7
Al A2
L1= 3.500 + 3.500 = 7.000 m
- M7 H AL T HEE S Uav %
/S
N1= 2 X 2 &a = 4 fEpr
< IE ALy o ) — gk TER
V1= 0.150 X 0.050 X 3.500 X
X 2 &a = 0.11 m3
(t/m3)
WI1= 0.105 X 2.35 = 0.247 t




W NS EE T (B RE)

® — WG RCEEME TEERE) KEREE

i B[ HAL - i &
Al A2 At

ARLE AR | (B R20mm m 3.50 3.50 7.00 DL AP
m® | 0.005 0.005 0.01

I b kg 1.95 1.95 3.90 THFY G
m® | 0.047 0.047 0.094

b kg 15.67 15.67 31.34 TR * VKR
R kg | 86.13 86.13 172.26
T ~— kg 1.68 1.68 3.36
B A kg 3.50 3.50 7.00
R f:f//fﬁx m | 1400 1400 | 28.00
Y uby=ra'h | m 3.50 3.50 7.00
a2 %) a—F—&H m 7.00 7.00 14.00
TAMBAEH] | ke 0.53 0.53 1.06

H Ho LB T 2 2 I NG




ARG R

[ Tf&pr -

Al,A2 (N=2& ) ]

St GElE e
AR A ( WER20mm AT )

1

[\]

CEtiEEALZL (0 14 )
v = ( 0.150 + 0.150
W = 0.006 X 1950 X
. RHEEAZL (0 1550 )

WEME T(EEHE) £

) X 0.005 X

1/5

vV = ( 0.150 4+ 0.150 ) X 0.045 X
W = 0.047 X 2000 X 1/6
4. fEAD
W= ( 0005 X 4/5 x 1950 ) + (
5. 7 A(~—
A= ( 0150 + 0.150 + 0.0560 X 2+
W= 1.68 X 1.00 (kg/m)
6. CFRP
- PR
W = 3.50 X 1.00 (kg/m)

o =R VHTIARR—L VT EA

L = 350 X 4.00 (m/m)

I v

o Ve U by—ata

!

L = 350 X 2

- A A

8

W = 3.50 X 0.15 (kg/m)

. HHuALER

3.50

3.50

0.047 X 5/6 X 2000

0.040 X 2 ) X 3.50

)

3.50

0.005

1.95

0.047

15.67

86.13

1.68

1.68

3.50

14.00

3.50

7.00

0.53

m

kg

kg

kg

kg

kg

{5 T



| 3 A A= VIR - S g &
{g?m:l:
CHE LT HE ST
A= ERIEE v AR
74.482 +  108.388 = 182.869 = 182.869 #im2
HEHEA ST
A= EMIEE Y AR
12.111 + 17.538 = 29.649 = 29.649 #Hm2
e e
HAE B (ig4a)
1R Al= 1.4X6.075%X2+(5.62X6.075) /2 X2 = 51.152
TEf A2= (4.55+1.0) X 1.2 X2+4.55X2.2 = 23.330
/N B = 74.482
HAEER S
TEf Al= 2.2X5.505 = 12.111
/N = 12.111
B AE
HAE B (i4a)
1R Al= 1.4X7.625X2+(7.42X7.625) /2 X2 = 77.928
TEf A2= (6.141.0) X 1.2X2+6.1X2.2 = 30.460
/N E = 108.388
RS ER S
E Al= 2.2X7.972 = 17.538
N = 17.538




HOEDH T

FEAEE A
L)

1B

AR T e
(i)

1EMH

cr AT RS

- 1 T S S T LA

* 1 1 2 S R L

A= IR +
74.482 +

HAUEERH]
108.388

Al= (1/2X%5.620X6.075+1.400 X 6.075) X2

A2= (4.550+1.000) X 1.200 X2 + 4.550X2.200

N

Al= (1/2X7.420X7.625+1.400 X 7.625) X2

A2= (6.100+1.000) X 1.200 X2 + 6.100X2.200

N
TO#R o
N= 4 + 4
FEAEETH]
N= 6
TO#R
N= 4

51.152

23.330

74.482

77.928

30.460

108.388

182.870 ##m2

6 [A]

4 [A]




